Math 1201 Midterm Exam Review

Unit 1 Measurement

1. Which is the best referent for | yard?
A) Jheight of a door knob from the floor
B) length of the ice surface in a hockey arena
C) length of a screwdriver

D) width of your thumb

19

Which is a good referent for 1 inch?
A) distance from a doorknob to the floor
B) thickness of a dime

@ thickness of a hockey puck

D) width of your hand

(9]

Which Imperial unit is best for measuring the length of a hockey rink?
A) kilometres
B) metres

C) miles
@'ards

4. The iength of a table is 3 metres. What s the approximate length in inches?

A) 75

120

C) 750

D) 1200

5. Astudent ran 60 feet. How many yards did the student run?
A) S
(® 20
C) 180
D) 720

6. What is the surface area of the regular tetrahedron to the nearest square centimetre if AB = 5.0 ¢m and

CD=58cm?
A) I35
B) 44

D) 116 5.0 cm
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Unit 2 — Powers and Roots

12, What is the greatest common factor of 54, 150 and 1807
;
B) 9
C) 30
D) 54
13. What are the prime factors of 120 ?
>0

C) 10, 20, 30, 40, 60, 120

3,5
33,5

~o

D) 1,2,3,4,5,6,8, 10, 12, 15, 20, 24, 30, 40, 60, 120

3 -64 +\/g

14, Evaluate:

A) _31_5
16 )
B -3—
() :
1
0 4—
ST
1
D) 4—
) 2

I5. Which is irrational?

A) 3-8

o _[A
9

o) V2.25
©) Vi

XG yQ ZZ

46
16. Simplify: Xy z
A) x5y52“

B) x°y°z*
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21. What is the exact value of 3 E ?

A)

)

N
=R

@]
—
Ol &

W

22. Which is irrational?
A) 0.36

B) E
25

Ye4

2

23. Whatis 6 3 expressed as a radical?
A —/6
B) -6

C) —

‘
2

24. What is the least common multiple of 252 and 600?
A) 36
B) 210

C) 2100

ﬁ) 12600
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29. Factor completely:  24ab? — 16a2h?
A) ab?(24 - 16a)
B) 4ab(b — 4ab)
C) 8(3ab? — 2a?h?)

8ab2(3 - 2a)

30. Expand and simplify: (6x + 7)(5 — x)
A) —6x*—37x+35
B) —6x% — 23x + 35
C) —6x*+23x+35

D) —6x2+37x +35

31. Which model represents (x + 5)(x —2) ?

gb X - 2

X -2X
5 5X -10
B) X . 2
X2 2X
+
5 5x 10
0) ) S —
2X -2X
+
5 5x -10
D) X - 2
2X -2X
+
5 )¢ 3

32. Which trinomial has (x — 3) as a factor?
A)x?-5x—6
@2 -x—-6
Ox*+x—6

D)x?+5x—6



(2+x)(8L-x) (a
(81+x)(z-x) ©

(e+x)(zL-x) (g

(s—x)(zux)@

110108,]
9€— X6+ ,X

(xsfz)xzz (@

(xs+v)xu@

(ZX6+X17)LL (g

(x66+pb)x (v

X66+Xbp :KJa191dwiod 10308 “9¢

(z-x2)(z+x2) @

(xz+ X2)(xz+ . xz) ©

(z-x2)(z+x2) (@

(z+xz)(z+xz)@

("saanisod yuasaidat sajiy papeys :9joN) ¢1uasaidau saji e1qad|e Jo jos ays soop uoneaydijnw YIYA cE

(x5 — £9)(xS + 49) (a
(49 + x5)(49 + x5) (O
(49 + x5)(£9 ~ x5)
(49 — x6)(49 — x5) (v

£9€ — ;XSZ H01eg "pe

(e+0)(8+17) (a
#+0)(9+v2) O
(c+0)%+v7) (4

F+0)(E+ vz

Z1 + DIT + ;07 1008y "¢



38. Expand and simplify: (6p+3)(5p—-6)
A) 30p°+21p-18
30p?-21p-18
C) 30p*+51p-18

D) 30p*-51p-18

16x% -81y?

39. Factor:
A (4x-9y)°
B) (4x+9y)’

C) (16x+9y)(x-9y)
(4x+9y)(4x-9y)

2
40. Factor: 4a”+12a+9

A) (2a-3)(2a+3)

(2a+3)(2a+3)

C) (da-1)(a+9)
D) (da+1)(a+9)

41. . Which polynomial represents the area of the rectangle?

8x%+36xy —20y? (8x — 4y)

B) 8x%+22xy-20y?

(x+3y)
C) 16x%+72xy—40y?

D) 8x*-36xy—20y2

42.
Factor completely: 8y? —28y +12

A) 2(4y-2)(y-3)
' B) 2(4y—3)(y—2’)

(o) 4@y-1)(v-3)

D) 4(2y-3)(y-1)
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46. Joe made a wooden scratching post for his cat and wants to cover it with carpet. About how much
carpet will he need if he covers everything except the bottom of the square block?

SA%W = U0 40 cm* >

SA'WM pn‘an: 2100 tm?*
Pvidap= 3N =20 o

47. Shannon's rectangular dining room is 12 ft by 15 ft.
~ There is a square rug that covers one-fourth the area
of the floor. Determine the side length of the square
rug. Express your answer in mixed radical form.

frogena = ISHI2 = [goft™) 15

Rug 1 2

48. a)  The volume of a sphere is 248.5 cm®. What is the radius?
V=4 ¥¢>
N 3
V= 2485= 231;-7!' v
= 39cm |

b) What is the surface arla'(ﬂ the sphere?

SA= 4Nc*

| Sh = s

y |

A\
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53. Simplify (the final answer must contain only positive exponents) 8
. é X - @/5(1 //q 125X_9y3
B ~2-3 g+ Y
T Uy - = §X L
125 2. x lq
I = s d
3

TREX "2y X5

s, 7 !

54. The surface ar&of a cube is 96 cm. Determine the length of the diagonal, x, of one of the faces.
Express your answer in simplest radical form,

= iz

— 3 >
35. Expand and simplify: @x-7)Bx*+4x+2) — é% ~ 5% 'c?? AIZX . /L)L

56. Factor completely:  4x3 + 6x2 — 40  — ) a?,% C"?«X — Y}( 'f’l)?
—_— 7

57. The area of a rectangle is represented by the polynomial 8x2 + 10x + 3. If the length of one side is 4x +
3, determine the width of the rectangle.

4x + 3

A=287+ 10x + 3 ?

(Ax#3 )@‘*D__

_

58. Valerie plans to put siding on the front of her garage pictured below. Find an expression (in simplest

form) to represent the area of the surface to be covered with siding. (Note: There will be NO siding on
the two doors.)

— 3x+5 —

P = KrSX111
sy > 0550

X+ 2

b——— x+ 3
X+ 2
|
|
|
|
|

[ o —






